EARAROBREBRT —5 XN—ZXBISH—F

2022648128 (X)) 1EIER4E

LWt >%—f% C29 B
[AXE%€]) 1%&:350,000H ~ 2&:112,000H  3#%&:5,000M / 4%&:42,000H  53&:35,000H
RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
YISV IL—S5— o4 ?;%0’%%12 1:(33).0 1-1-1-1 | 40.2| - 6 | 405 Eﬁgf &R)
Rib—tYS— BHISUA—RE— 0 | kimig
99 JLI—F 4% 6 ﬁ%ﬁgb 1( :33.? 8-5-7-4 |39.4| - 1 488 ﬂ[(lﬁi)ﬁ]? (ﬁi);)l\t“ .
. JE F— J3av
RNV PH—IL B AO—ZE— R S
XY /NVEZT 6 | HFES B 3344 |40.5| - | 5 | 43% E“jﬁ%? @R
- . 3 RIES
R:N—EVIv— B:¥P/0O0vaz ¢ PR
4/8|/8|N7TTHFR-5 4 | FRXE 1;(34).1 2222 (410 - | 2 | 48 Eigg &R
. 2) i X
R:7O¥A7x B:yrId-)bE— i AH tF
5/5|5| 3=AATIL— o4 | BAK— fhren 6-5-5-6 | 40.7| — | 4 | 440 ggg% &R
— . N+ IEERE
RI—MURDIL BT O N 55—
6177 | LTTXXIL s 4 ;.5;%%;‘% 1(;%‘;-; Ml R ’ (4+526; ﬂ?ﬁ@?;%ﬁ;)ht“yay
RiUFAVF4—R B:RI—Dhy Iz BRI 7—L
7 ) |[RrOZUD o4 ?,%4%!%$ 1:(343.3 6-8-8-8 |40.0| — | 7 | 413 Eigt}i &R
. 1 ] N
RiO—RAFO7 BYYALTY ) T T
g 4| YEILR—o B4 e 1 (:34.)4 5-5-6-7 |41.0| — | 8 | 450 ;]E:Eﬁém &R
: 1/2 - F
RVENSF— BPULFA O | Foris
@ 11— —BBIEfI
13—7F— 6.,8,(3.,7).,4,(2,5 .1
20—F— 6,8, (3.,7),(1,4,5),2
30—7+— 6,(7.8),3,5,4,1,2
40—7+— 6,(7.8),(1,3),5,4,2
o ILRE
B B 6 1,480 | | DA R 1-6 1,060 5= 1-6 3,070 3EE 1-3-6 8,690
7B B 6 390H 3-6 1,490 =51 6-1 7,540 3EH 6-1-3 59,470
1 1409 1-3 650/
3 220

ABIC OV TRUTEREERRODDZE. THRIIZEL.




